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Answer the Questions from any one Option.
| OPTION-A |
Paper ZOO—HE— 5026
‘ DSE (H) - z
(Animal Biotechnology).
Full Marks i 60
Time Three hours

. The ﬁgures in the margin indicate
SJull marks for the questions.

1. Fillin the blanks: - 1x7=7

. (a} Taq polymerase was isolated from
bactenum, R

() ———— was the first commercially. -
available genetlcally " engineered
. -product: ,
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(¢) Causative orgamsm for crown gall
disease is -

(d) The insert capaeity of YAC is

(e) -A For actlvatlon of type II RE
is/are needed ' :

(0 In production of Bt cotton, the Bt gene
' is derived from

(9) . Following DNA double strand break,
‘ the DNA repair mechanism is initiated =

2. - Answer the followmg questlons in brief :

Ox4=8

(@) R Wnte the pnnC1ple of Western blottmg
(v) What are. expression vectors ?
(¢ .What is- DNA rmcroarray ?
d) How is nomenclature of restnctlon
enzymes done ?
3. Answer any three of the followmg
o _questlons _ S 5><3-15
’ (a) Write bneﬂy the steps involved in
: PCR.

3 (Sem-5 [CBCS) 200 HE IJHE 3/HE 4/G 2.



(b) leferentlate between genomlc and ‘
cDNA hbrary :

':(c) A'Compare between Northem and
- Southern blotting techniques.

(d) Give a note on colony .hybridiza‘tion. :
(e} What is gene therapy ? Write the .

apphcat10ns of gene therapy in
-medlcme .

4. What are restriction enzymes ? Give anote
on frequency and plane of cutting of -
restriction  enzymes. Write - different

apphca‘uons of restriction enzymes. -
: 2+4+4~10' '
- Or o

D1scuss Sanger's method for sequencmg
DNA. : - , : ].Oj.

5. What is biotechnology ? G}ive’ a brief hote on
the scopes of biotechnology. 2+8=10
- . or |

. What are ‘the properties of a good vector ?
" Discuss the properues of plasmid, M13 and

bactenophage L 4+6=10
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6. What is transgenic ari_itpal ? Write a note on

~ different transfection methods for the
: rdevelopment of transgemc ammals

' : o . 2+8=10

or '

- What is DNA f'mgerprmtmg ? Discuss

- 'dlfferent methods of DNA fmgerprmtmg ,

2+8"10
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_ OPTION—B _
Paper : ZOO—HE— 5036
( Endocrinology)
Full Marks : 60
" Time : Three hours
The ﬁgures in the margin indicate
- full marks for the questions

1 Choose the correct answe"r D 1x7=7 '

(a) Thyr01d hormone defic1ency in adult -

causes
":(i) _ myxed:emav,v. A
. (i) ‘cretinism
~ (iii) .Graves’ _diAse_a..s'ie_ |
- (iv) acfomégaiy o
| (b) Which._cells of the islets of Langerhans
" secrete ‘glucagon ? .
(i) Alpha cells -
(i) Beta cells
(iii) C cells
(iv) D cells
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(c) Which of the followmg hormones is'a
'~ steroid ?-

() ACTH

(ii) ‘Glﬁcagoh
(i) - Oxytocin -
(iv) : Eséradiol‘ :

(d) Melanocyte-stlmulatmg hormone
(MSH) is secreted by

B ). _adenohypophys1s
\ " (i) ‘pars mtermedla of pltultaly
- (iii) adrenal gland
(iv) "thyroid gland
(e) Thyroid hd;‘rnooe synthesis involves

‘the iodination of -
0] tyrosine N

‘(i) alanine

(i) tryptophan

| (iv) methionine
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@

) - Goitre

In adrenal gland glucocortlcmds are
secreted by

(i) Zona glomerulosa

() Zone fasciculata
.('iii) Zone ‘reticu.l_ar‘:is ‘

(v Medulla

Low level of adrenal cortgthrmone
causes R S

i) Addison’s disease

(iti) Cushmg syndrome

(w) Tetany

Answér the following questions : '2><4=8

(@)

(b)

©

What are dlfferent chemlcal classes
of hormones ?

Meéntion the anterior pltulta.ty
hormones

D1st1ngulsh I;etween diabetes mellitus
and diabetes insipidus.
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- (d) ‘What is Leydig cell ? Which hormone
‘stimulates thgir secretion ?

1+1=2

- 3. Write short notes on : (any three)

' .(a)'l Erido;:rihe functions of posterior
. pituitary L
(b) Histological structure of thyroid
(o) "'_Phy'siblogical functions of |
| mineralocorticoids
- (d) Hormonal control of calcium
homeostasis " '

(é)_ Functions of p_arathyrbid hormones.

4. - Answer -any three from the following

quiestions : . i 10x3=30

(@) What are hdrrhone‘regiép'tors ? Discuss
- different ‘mechanisms of . hormone
actions. . 2+8=10

" (b) Describe the histological structure of -

adrenal gland. with suitable diagram.
- Give an account of the endocrine -

functions of ‘adrenal cortex and
medulla. Lo 5+5=10
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(c) Describe the histology and endocrine .
functions of mammalian testes- with
_ suitable diagrams. 5+5=10

(d) What is hypothalamo-hypophyseal
axis ? Discuss - various physiological
functions of the anterior pituitary.
“hormones. = - ' 2+8=10

(e) Give an account of the endocrine

functions of the pancreas. = - 10
() Discuss the molecular mechanism of
- action of protein hormone. @ 10 .
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- OPTION-C
- Paper ZOO—HE—5046
(Parasitology)

Full Marks 60

vTrune_ : Three, 'hours }

The ﬁgures in the margm indicate
full marks for the questions.

| 1. - Choose the féon.'éct answer : 1.><7=7,

i) In malana the form of plasmodmm
that - is transmitted from mosqulto to
-~ human is

(a) sporozoite -
. ) garﬁetdcyte

fc) merozoite -

(d) ‘hypilo_zbite
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(u) Each of the followmg parasxtes s
' transmltted by mosqulto, except :

@

o
N
@

Letshmama donqvanz .
vW"ucheferia bdncfoﬁi‘
Plasmodium vwax .

Plasmodium falciparum

(iii) Each of the }follo.wir‘lg ‘statements
concerning Ascaris . lumbricoides is
cprrec':t except

@

(b}

(o)
- intermediate hosts of Ascaris -
lumbricoides

(d)

Ascaris lumbncozdes is onie of the |

largest - nematode o

'Ascans lumbncozdes can ‘cause

pneumoma

BOth dogs and cats are -

Ascaris lumbricoides is
transmitted by ingestion of eggs
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(iv) The in'teMediate host of vfasciola is
.. (a) Lymnaea truncatula
. (b) Pila globosa
(c) ~Lamellidens
(d) Helix . S

" () Which of the followmg is false about
' ' Ancylostoma duodenale ? -

(@) Itis a blood-suckmg worm
-(b) Iron deﬁ'ciency anemia occurs

(c) Prevented by drmkmg ﬁltered
water :

£y

(d) Stool exammatmn is pos1t1ve for.
- ~occult .blood - : |

(vi_)» Ticks and mites belongs to whlch of -
' the followmg classes of Arthropoda ?
(a) Arachmda o
(b) Insecta
-(c) Diplopoda
(d) 'Chilopoda
(vil) Culex sp ‘acts as a vector for
| .(a)'v loiasis ' ‘
(b) malaria
()] ﬁlaﬁasis
(d) babesiosis -
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. (ii)

(ifi)

-

e

Answer the following questions : ' - 2x4=8

2.
(i) Mention fou-r '? parasitid diseases
. transmitted by vectors. ’
(ii) Write some Ppreventive. measures to
o antrol'mosquito—bdme diseases.
(i) Define definitive host with example.
* (iv) What is diarrhoea ? Give two éxarriplés
' of parasjtes producing watery
- diarrhoea. . -
3. - Answer the following questions as \
directed : (Any th'reé) ' © T 5x3=15
() Describe morphology and

pathogemc1ty of W‘ucherena bancroﬁi

Give a brief account of parasitic
vertebrates highlighting Mo_ckmgblrd
and Vamplre bat. -

Write about the life cycle, epldemlology
and treatment of Ascaris lumbricoides.
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4.

. (w)

(v)

Wnte about the morphology, life cycle
d treatment of Gzardza intestinalis.

Descrlbe morphology, pathogemc1ty
and laboratory diagnosis of
Fasczolopszs buski.

-

Answef the ‘folloWing' questions : 10x3=30

i)

(i)

(@)

(i?)

Describe morphology, pathogenecity
and  laboratory ' “diagnosis = of

]

)

f

Lelshmama donOvani. : 4+4+2=10 .

Enlist blood and tissue protozoa.

Descrlbe morphology, pathogenecity

and laboratory . diagnosis - of -

Plasmodium - vivax. 2+6+2=10

Describe the concept of arthropodan

_ parasmes Write about the biology, )
-importance and control of arthropodan
parasites citing an example. 3+7—10

Elaborate the concept of parasitoid
and vector. Describe the mechanical
and biological vectors with examples.

5+5=10
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(v) ‘What is parasmsm ? Descnbe the
host-parasite- relationship with
examples What is the importance of -
studymg host-parasite relationship. -

2+6+2=10
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